ooooogon

g 0

0019970 40 260000 20210 20 100



0.1 OoUobuooooo

0000000000000 *O0D0ooDOoOoOopDOoOOOOOOODOODODDODODODDO
gboogooooob,bobobobooobo0o1l10bo0obobooooboobon
gbooobooon
1993 - 14+9494+3=22-24+2=4

goooooo19930000040000000

0.1.1 DUOOOoobO

000o00o0ooO0o0oooo f(n)ODODOODDODOOUOO nOO0O0DOOODODOOODODOO
goooooooooooog
goo

gbogopobooboobbooboooo

ooo

fn) 00000000 OOOOOOOOOODOOOOODOOOODOODOOOOOOO
googn

o

goboodg

0000000000000 000UO0O0O0000U00DO000D0D0OODOO0DODUOUODOO
goboooooooo



0.1. ODOoOobObOoOoobooa 3

goboobooooo

F(11) - f(1+1) - f(2) =200 f(11)=20000f(14+10)=2000000

f(12) = F(142) - £(3)=300 f(12)=30000f(2+10)=3000000
F(13) = f(143) - f(4) =400 f(13)=40000f(3+10)=4000000
f(14) = f(14+4) - f(5) =500 f(14)=50000f(4+10)=5000000
f(15) = f(145) - f(6) =600 f(15) =60000f(5+10)=6000000
f(16) = f(14+6) - f(7)=700 f(16)=70000/(6+10)=7000000
FOT) - F(14+7) - £(8) =800 f(17)=80000f(7+10)=8000000
F(18) = f(148) - £(9)=900 f(18) =90000f(8+10)=9000000
( )

f(19) - f(1+9) - f(10) - f(140) - f(1

) - =100 f(19)=10000f(9+10) =1000000
F(20) - f(240) - f(2) =200 f£(20)=20000/(10+10)=2000000

F(22) - f(242) - f(4) =400 £(22) =40000f(12+10)=4000000
F(23) = f(243) - f(5) =500 f(23)=50000f(13+10)=5000000
F(24) - f(244) - f(6) =600 f(24)=60000f(14+10)=6000000
F(25) - f(245) - f(7) =700 f(25)=70000f(15+10)=7000000
F(26) - f(246) - f(8) =800 f(26)=80000f(16+10)=8000000
F27) = f(247) - £(9)=900 f(27)=90000f(17+10)=9000000



4

F(28) = f(248) » F(10) - f(1+0) - f(1) =100 £(28) = 1000 0f(18410) = 1000000

F(29) - f(249) - F(11) - f(1+1) - £(2) =200 £(29) =20000f(19410) =2000000
F(30) = f(340) - £(3)=300 f£(30)=30000f(20+10)=3000000
000000 f(N)O NOOOOOOOOODODOODOOOOOOOOOOOO0O000O0

00000000000000000000000000000000000000 f(N)

000000000 f(NM)OODODoO0Oo0oUooUooooooUoUooooooooooo

0000000000000 NO f(N)OOOOOoOOooooooooOoOooOOoOoOOO
godg

goobgond
goo

Hfn)}y = f(n)

gbooooobooboobooboooo
goo

f(N10") = f(N)

gbogbuoobobooboobobobuoobobboobooboboobaan
gboogbooobooobooiloboboboobooooobooobooboobbobbo
goo

f(n+9M) = f(n)

0o
fin4+9M)=f(n+9)00 900000000
=f(n+10-1)
=f(n+14+0-1)
= f(n)
oooono
oooo
fO)=f(0+9)=f(9)=9
oooooof
000

tf(M)=f(N)ODOOODOOODDOOO M=NOODOOODOOO



0.1. ODOoOobObOoOoobooa

fX+Y) = H{H(X)+ f(Y)}

0o
0o
N .
X= > z107"
i=—N
N .
Y= > yl107!
i=—N

obodbDz,y; 0000 900000000000000i0DO0ODODODOO

N N
FX+Y) =D 107+ Y 1071}
i=—N i=—N

N .
= f{ D (@i+y)10'}
i=—N

i=—

N

=f{) (@+y)}0000000
i=—N
N N
=f(>. @+ > w)
i=—N i=—N
= Af(X)+ f(Y)}
ooooo
oo
FXY) = HAX)f(Y)}
oad

FXY)=f(X+X+X+X+X+X+-)00YDOOX0OOO

= fH{fX)+f(X)+f(X)+---}0000000
= Hr(X)Y}
— f(NY)O N=f(X)0000
= f{Y+Y+Y+Y+Y +.. )00 NODOYOOO
=H{fV)+f¥)+fY)+--}



= H{NFY)}
= X)) F(Y)}

gooonf
ooo

FXNY = FIAFONY

gobooboogoboooon

oon
f(-M)=fO-M)0O0DDOMOOOOOO 1009000000
ad
F(=M) = F{0+ (—M)}
= F{/(0) + (~M)}

= f(9— M)
ooooog
ooood

f(=1) =38

0000000000000
f(=M) = f{(=1)M}

= Hf(=Df (M)}
= [{8f (M)}
= f(8M)

gboooboooon
goog
goooboooobooboooboobooon

f(=M)=f{9—-f(M)}0O MODOODOOOO
00
fF(=M) = f{(=1)M}
= Hf(=Df(M)}



0.2. OO 7

= {85 (M)}
= HO-1Df(M)}
= {95 (M) — f(M)}
= f{9-f(M)}0D 9000000000
00000

0.2 00O

0.2.1 0OUOOOOODOOOOOOO

ubobooboobbooboobobooboooobooboo
g
942 + 631 = 1173

ooDooooon
F{f(542) 4+ f(631)} = fF{f(5+4+2)+ f6+3+ 1D}

= (A1) + f(10)}
=M+ +f(1+0)}
= Hr@+r)}
=f(2+1)
=/B3)
=3

oo
FAI73) = fFL+1+7+3)

= f(9+3)
= /(3)
=3

gobodboooboobobooobobooboo
ud
g(x) =323 —42® + 50— 6

Moo =f{fO+2)+f9+D)}=f{f@)+f(1)}=f(3)0000000000000000000
ooooon



O00z=4000 g4)=14200000000000000

Hg@)} = F{fB3)f(4%) — f(4)f(4) + f(5) f(4) — 6}
= F{3f(64) — 4£(16) + 20 — 6}
= f{3f(1) —4f(7) +2 -6}
= f{3-28+2—6}
= f{3-1+2-6}
= f(-2)
=7
0000000 f(142)=700000000000000z=-123000

g(—123) = (—5643738)

goog

Flo(=123)} = F{f(3)f(—123%) — f(4)£(~123%) + f(5)f(~123) - 6}

= [BF{f(—6)*} — 4f{f(—6)*} +5f(—6) — 6]
= BB’} = 4f{f(3)*} +5f(3) — 6]
= f{3f(27) —4f(9) + 15— 6}
= f{3f(9) —36+6—6}
= f{27-9}
= f(9—-9) = £(0) = f(9)
goooooo
f(~5643738) = f(=9) = f(0) = f(9)
goooooooouooooocooooobooooooooobooon



03. ODOdoOog 9

0.3 UUooon

1
0.3.1 f(=)0000O
T

1 1
—) = — :1
fla—) = fFAf@) ()}
1
00000 f(-)OOoOoOoOOoOooOOoOoOOoOoDOO0oOOoOoOoIOOO0DOooOoOOoOObD
T

000000000000000 4,4,4,5000f(XY) = f{f(X)f(Y)}0OODOO
oooooo

O £(Y)
f(X)|1]2]3|4]5|6]7]8]9
1 [1]2]3[4]s5]6]7][8]09
2 [2l4l6|8][1|3]5]7]9
3 [3]6l9]3][6/9]3]6]09
s l4als]3l7]2]6]1]5]09
5 [5]1]6]2[7]3[8]4]09
6 |6|/3l9l6|3][9l6]3]9
7 |7l503[1]s8]6lal2]9
s [s8|7]l6]54al3]2]1]9
9 [ol9lololololalo]o
O f{f(X)f(Y)}
ooooo

Oddoooooooooooooood
oo
fmn)=p00 mn0000000

fm)=M,f(n)=NOOO
Hfm)f(n)} = f(MN) =p
D0OMOp00000O0NOOOOOOO
000000000000000000000000000000000000
DDDDDDDDDDDDDDDfGQDDDDDDD

flat) = FF@I} =1

X



10

1
00000 f(z O f(-)000000000000000f(z) =3,6,9000p =
X
1,2,4,5,7,8000000000000000000000NOOOOOOOO

fl#)=100 j(0)=1
fla) =200 f(1)=5
fz) =300 f(1)=00
f@) =400 f(;) =T
fe)=500 f(;) =2

1
000000 f(-) 0000000000000 00O0OOOD0O0O0O0O0OO0 z=2500
T

DD]@»:?DDDDDfég:4DDDD§

111
000 f(3)0f(g)0f(;) 00000000000000001

s0000 L 004000 f(3)=40000000
x x

f‘OooooDoDODODO00O0OO0O0O000OO0OODDDO0OO000ODDDDOO0O000N0NOOOOOoooonn f(l)
go0ooooobOoooooOooao ‘
f(@) = f{g(x) + h(z)}

ogoooooood
fg(x)} =1,2,4,5,7,8
ogood
f{h(z)} = f(9)
ogo0oooboooooooa



03. ODOdoOog

0.3.2 f%)DDDD
Oo0ooooooooooood
a
7

godg

ﬂ@:sz%):4mmmmmmﬂ)—7mmmﬂ

ﬂ@z2Df%)z5DDDDDDﬂ)_2DDDﬂ
ﬂ@:sz%):7mmmmmmﬂ)_4mmmﬂ
ﬂ@zQDf%)zSDDDDDDﬂ)_SDDDﬂ
ﬂ@:3mf%):4mmmmmmﬂ)_7mmmﬂ
ﬂ@:3mf%):5mmmmmmﬂ)_zmmmﬂ
ﬂ@:3Df%):7DDDDDDﬂ)_4DDDﬂ
ﬂ®:3Df%):SDDDDDDﬂ)_8DDDﬂ
ﬂ@:4Df%):5DDDDDDﬂ)_2DDDﬂ
ﬂ@:4Df%):7DDDDDDﬂ)—4DDDﬂ
ﬂ@:4mf%):smmmmmmﬂ)_8mmmﬂ
ﬂ@:5Df%):7DDDDDDﬂ)_4DDDﬂ
ﬂ@:5Df%):8DDDDDDﬂ)—8DDDﬂ
ﬂ@zGDf%)z?DDDDDDﬂ)—4DDDﬂ
ﬂ@:6Df%):8DDDDDDﬂ)_8DDDﬂ

ﬂ®:7Df%):8DDDDDDﬂ)_4DDDﬂ

ugboboobooobboobooobo

= FA@F())

Sl RS

e oe oe e T e e TR e e TR e oe o e

11



12

04 UO0OOOOOO

0.4.1 0OO0OOO

gbooooooooooooo

O f(x)
n | 1]2]3]4]5]6]7]8]9
of1lofafela]afe]1]1
t1l2]3]al5]6]7][8]09
2 l1lalol7]7]olal1]0
sl1lslol1lslol1]8]9
Jllrl7lolalalol7]1]o
sl1lslol7l2lolal8]9
6 1l1lolt|1lol1][1]9
7129459789
0 Hf (@)}
000000

0000 n>700000000000007»=10000000 f(x)=3,6,9000
obooooooooooon

f(z)=9000n=0000000000 f2") =1

flz)=9000n=mO0 (mMODOOODOO0O0 f(&™) =9
f(z)=8000n=2n00 (mMODOODODOOO f(a") =1
f(z)=8000n=2m+10 (mOOO0O00000 f(2") =8
f(z)=7000n=3m00 (mMODOOOOOO f(a") =1
flz)=7000n=3m+10 (mOO0000000 f2") =7
f(z)=7000n=3m+20 (mMOOO0O00000 f(z") =4
flz)=6000n=000 (mOOO0O0D0O0O00O f(z") =1
f(z)=6000n=100 (mMOOOODOO0OO f(z") =6
fz)=6000n=m00 (m>10 mO00OOOOOO f(z") =9
flz)=5000n=6m00 (mMOODOOOOOO f(a") =1



04. ODOOOODOO

flz)=5000n=6m+10 (10000000 f(z")=5
flz)=5000n=6m+20 (10000000 f(z") =7
f(z)=5000n=6m+30 (mOO0000000 f(z") =38
flz)=5000n=6m+40 (mOO0000000 f(z") =4
fz)=5000n=6m+50 (mMOOD0O00000 f(z") =2

f(z)=4000n=3m00 (mMOOOODOO0O0O f(z") =1
flz)=4000n=3m+10 (mOO0000000 f(z") =4
f(z)=4000n=3m+20 (mOO0000000 f(z") =7
f(z)=3000n=000 (mOOOO00DOO f(z") =1
flz

f(z)=3000n=m00 (m>10mO0000000 f(2") =

)=3000n=100 (mOO0000000 f(z")=3

f(z)=2000n=6m00 (mMOOOODOO0O0O f(z") =1

flz)=2000n=6m+10 (mOO0000000 f(a") =2
flz)=2000n=6m+20 (mOO0000O00 f(a") =4
flz)=2000n=6m+30 (mOO0000000 f(2") =38
flz)=2000n=6m+40 (mOO0000000 f2") =7
f(z)=2000n=6m+50 (mOO0O000O0O0O0 f(2")=5
0 f(x)
n 1le]s]4]s5]6]7]8]9
o 111ttt ]1]1]1
1 1l2]34l5]6]7]8]09
em+ol[1]1]olt]1t]ol1]1]09
6m+1||1]2]9]4a|5]9]7]8]9
em+2 || 1497 |7]9]4a]1]09
em+3 || 189189189
6m+4 |1 7]9lalalo]7]1]09
em+5|| 159729489
O Hf @)}
oooooQ

000000On0O f(z)D0000OD0O0OOODOOOO

9

13



14

0.4.2 00O

googbooboooboobooboobogobloboobobooobooobooboon
oood

HOV2?Y = H{f(V2)°}
£(2) = fF{F(P)})
0D00000000000000000
FCvV2) =5

googn

000
f3V7)=40000050002V16 =402v25 =5l

fV4)=2000007000%/49=7
fGV9)=30000060000090002V/36=602V81=9
fAV4) =40000050004256 =40%/625=5
fV7)=2000007000%16=20%/2401 =7
FV4) =2000007000°%256 =208%/5764801 = 7
fEVT) =40000050008%V65536 = 4 05390625 = 5
0D0000000000000000000

lDoo fev7) O 700 f(16)=70 £(25)=70000 700000000000



04. ODOOOODOO

gbboobooboboobooboob

O f(x)

m 1 2l sl 456 7] 8] 9
1 1 23] a]s][6] 7] 8 9
6n+0 | 124578 |0 |0 |0 |o|lo|lo| o [369
bn+1 1 2 415 71 8 369
6n+2 1,8 olol27|0|o0l45] O [369
6n+3|| 147 |oO|o|o |olo|lo[258]369
6n+4 1,8 0lol45|0 (027 O [369
6n+5 1 slol7]2]of 4] 8 [369
O AV}

0000000

15



